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01 92724l 98,900 118,400 A 19,500
ORE HEES 43 2,000
—BEUY HYEE AZ 4,000& *500H 2,000
O BHAAdZAF 12,900
—LEEN AZAFH ALSE 2,500
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2N

=]
2
HM: 22
=]
2

12 2% L AVSTAMYIA
el BAL SATHH CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— SN AE(LHAR25S) 6,000
—XUsE AP2H JIF7 € M 2,000
—ENNES NE Y ARE 800-& *3,0007H 2,400
O BHNANESAE 84,000
—dBts A ZAE L A2 F 80,000
~HBNNEAZE Y T 4,000
BHIUS A =L UHMBH] 298,272 300, 409 N2,137
BA8sAs 89 298,272 300,409 N2,137
201 Bt A H| 101,882 105,489 N 3,607
01 At 22l b 20,460 18,900 1,560
Ogbte=2d| 17,080
—MEESE Y 4225 ¢ 12,400
—OI2HIIA AERSS (ST, XSG, XS
£3) 10,000 *3L2 130 A x 1204 & 4,680
QU= (M) 60,000 * 130 &~ 780
OAEDEH(BEXNE) 200,000 x 130 A&~ 2,600
02 332494l 81,422 86,589 N5, 167
03322 % XA 48,258
—dSAIE = 70,000 x 120 & 1304 £ 10,920
—&IIANES 100,000& 1200 & * 130 & 15,600
— AOFEIIBEL (JI=2,29%,0tH)
250,000 604 & 30 A 4,500
— ML AES 20,000 x 120 & 1304 £ 3,120
—NES =22 40,0003 1200 & * 13 & 6,240
—&dX= 22l 8AH3A 30,000 =130 &~ 390
— MDA =2
100, 000& * 130 A +23] 2,600
—SRdLSES MAEES 23,0003 x 120 & 1300 & 3,588
-2k AHE 100, 000& * 130 2 1,300
Od=H| 18,864
— AP A& ek 1,310& %84 =120 x 1001 A&~ 12,576
— AL SEA ey
1,310& %44 =120 x 1000 A&~ 6,288
OAlI& &Hl K X Hl| 14,300
— AR X 22| 500, 000& 134 A~ 6,500
— o2 &Hl KX &2yl 200,000 130 A~ 2,600
— &£D], Ul X22ld 200,000 134 & 2,600
—2EH 2 Z2H SAH2
200, 000& 130 2~ 2,600
202 (44| 2,340 2,340 0
01 2L Y| 2,340 2,340 0
oIz Bx0SE 60,0003 x13% *3 2,340
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A EAA
N 2012 28 E ALBSTANHA
O BAASL AT HA CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
206 M =8l 9,750 7,800 1,950
01 = dl 9,750 7,800 1,950
OXRZILSAl ol JITA
3,000& 25000 » 1304 2= 9,750
307 glztol & 138,000 158,000 20,000
01z 2= 138,000 158,000 A 20,000
Ot E & 223 138,000
—ENAUZYAE 2 A2F (130 A) 130,000
-SRI EARSE € ZEX 8,000
401 Al HI L 2T 30,000 10,000 20,000
01 Al&HI 30,000 10,000 20,000
O =B AH(=4t, &0l) 5,000,000 291 £ 10,000
OstHAMNE+SAH(SE) 5,000,000 *19H £ 5,000
O M g YU LAI A2, o, 50]) 10,000
O ZHIJtE S AF(SHAH) 3,000
O EXI S AH(THAL) 2,000
405 TtatFH S 16,300 14,050 2,250
01 H&H ESFHSH 16,300 14,050 2,250
OAMEE BFRH 1,200,000& ~4CH 4,800
OLUAUIIA % AZAX(GHA SR, 45,50
oroH) 200,000& *52& 1,000
OALSAA LY HIHE (22, 5HAH OFE)
600,000& »3CH 1,800
O=II(Hal, 55,8k, 0k0F) 500,000 =4CH 2,000
OsEZd& (3200, &01) 700, 0003 = 1CH 700
OZ2U2HS=EII(UA , 4,00 ,500)
500,000& =4 CH 2,000
Ods82EII(501,204H) 2,000,000& 2CH 4,000
HY2HIH(EAL) 862,664 812,069 50,595
olet 2 gl 451,142 409,049 42,093
Q2] 451,142 409,049 42,093
101 @124 H] 435,542 381,669 53,873
01 2=+ 150,229 164,111 13,882
OANZeA2 R FHZ(51Y) 56,403
— 53 11,5913 x1E «10Al 2t x 122 1,391
— 62 9,886 x19H x10Al 2tx 123 22,541
= 8,930 258 »10A| 2t 12 26,790
— 8= 8,017& 5 »10Al 2t 12 4,811
— 93 7, 2473 x1E x10Al 2t <12 870
Ozxu==2=¢ 93,826
—2a4 9, 1343 »26H 30Al 2tx 123 85,495
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A EAA
HE: HYRIFH (2AL)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
—EANEZA, BAXA, SH
9, 1343 *23H x2A| 2t x 128 5,042
—E22AHIA(EE) 9, 1343 x2H x15A| 2t 12& 3,289
02 JIEA 2 %= 233,473 217,558 15,915
OZ=EEBHYAH(EZER) 229,805
— 522N 800,000 x6H x12& 57,600
=R a DN EN 800,000 x17H x12& 163,200
—sxx224+g 40,0002 x32 128 1,440
—ZEPAAN ZU224Y
8,754 x21H x2A| 2t x 128 4,413
~TERAYMN(LE) 2D224Y
8,754 x2H x15A| 2t x 128 3,152
OFIAE(1Y) 3,668
—ANZ2AZ2 R 7,641 *1H*10AI 2tx 128 917
— X222 7,6413 *1H *30A| 2tx12& 2,751
04 JIZtHIZ22 NS E 51,840 0 51,840
oz 51,840
— Ol d| 1,600,000 »2H +12& 38,400
— A= G 250,000 x2H x12& 6,000
— o4 Hl 150,000 x2H +12& 3,600
—4EE8 = 38,400,000 *10% 3,840
204 & 2 =S A H| 15,600 19,200 A 3,600
03 SEYRAHI 15,600 17,400 A 1,800
oal g = 50,000 26 H x12& 15,600
| =&l 411,522 403,020 8,502
Jl2EHl 294,313 298,497 N4, 184
201 et Y| 148,983 150,537 A 1,554
01 At 22l ] 58,966 62,352 N 3,386
Ogbt42H S XA A 20,356
OS2 H SHHA 32,610
ogx 4 50,0003 x1H *120! 6,000
02 3524l 90,017 88,185 1,832
O2Z22=2 Y HMAM(E2xs) 50,939
—NE=2 HIE =52 120,000& *12& 1,440
—NM== 22 8XE 30,000 x12& 360
— AL (2R, gB)RLLNE
450,000& *23] 900
—&IIANE 2 30,600
= & 1,200,000 x12& 14,400
g 2 1,200,000 ~12& 14,400
RS IDNE=PN; 50,000& 20 x12& 1,200
S0lEsS2d= 8| & 50,000& x12& 600
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A
b

SA - BB (BH) - MEAMY - BYS ofl &t o SSa HDE2
—dolaCABE (2, 22)
300,000& x12& 3,600
—RERZ 5,094
LE R 2703 *500S x12& 1,620
SR (0IPLE)
1,930& 1503 x12& 3,474
— &I MY U EEEE= 5,500
HESS 600, 000& = 1CH 600
=Rl 500, 000& =2CH 1,000
HE A 900, 000& = 1CH 900
CAEHES 450,000 =4 CH 1,800
SgeEZ 0lEX 100, 000& *1CH 100
FSIDNE=D A @S =3 400,000 = 1CH 400
ISR (DE) 700,000 = 1CH 700
— FIXSI(DS)AM 100, 000& 1 CH 100
— M|t EHH 22 200,000& x12& 2,400
—AUESEIHY HFH 282 500,000& *13] 500
— BN 'Y= 445
&AL 110, 000& *23] 220
- X 75,000 «3CH 225
O9% & Hl 11,004
— H A HHEHH| 1,310 %204 *3Al2H%100L 7,860
— & A Q@gtd] 1,310& %204 *3A| 2k*40 3,144
OAld ZEHl |Xdl 7,176
—BAEBANAE FAEAMI RANES
200,000& x12& 2,400
HAIS A 2 (22, g)
1,000& *x2,376m 2,376
— BAAZHH FAES 200,000& x12& 2,400
OX+ & Hl 20,898
—NESE 3,390, 000& = 1CH 3,390
— 2832 (200) 3,068,500& =2[H 6,137
—HEHA 3,707,000& = 1CH 3,707
—AES=(400) 1,916,000& =4 CH 7,664
202 04t 100,450 120,640 A 20,190
01 2L Y| 40,450 43,840 A 3,390
OZ2LHOHI (2tLH) 23,930
O2LHAHHI(22) 16,520
02 240 H| 60,000 76,800 A 16,800
OXNA, A SHAY|(EN)
200,000 x25H x12& 60,000
203 PR =&Y| 8,100 0 8,100
02 HJAJPAHRFAH| 2,280 0 2,280
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A EAA
HM: H¥2H A (BEHA)
Ee: I3 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o gﬁ‘&i HRE2
— 35220 24 Lo
60,000 x 1801 A~ «12& 12,960
OA&E&Hl |4l 7,050
— 3 A X2 500,000& *7H &~ 3,500
— o2 &Hl |AE4H| 150,000 «7 0 A~ 1,050
— AR ) SXB2H (BAX2A)
500,000 504 & 2,500
202 044 16,560 15,840 720
01 2L Y| 16,560 15,840 720
2SS AHOYA I2HL =X (2L, 22)
20,000 32U x23H x 128 16,560
405 KHoHFE S HI 6,200 3,800 2,400
01 JHAE 2 E F S H 6,200 3,800 2,400
QOAHES L2 A (4 HOtH)
450,000 *2CH 900
QOIKAUIIA X P (A 300,000& x2 X 600
OZEHI(ZA,HA 500,000 =2CH 1,000
OoEsII(ZA) 500,000& =1CH 500
O=2Mg a(s2) 300,000 =2CH 600
O&ZUIa TV (9d) 600
Oozsdl(«4d) 2,000,000 ~1CH 2,000
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